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=Year 11                     =Probability                    =Worksheet 1
	1. Consider the random experiment of rolling a fair die once. Write down the sample space 
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 of this random experiment.

	2. Refer to the random experiment in Q1. Event A occurs when an even number turns up. Event B occurs when a number less than three turns up. Write down the two events by listing the outcomes in each one.


	3. Refer to Q1 and Q2. Draw a venn diagram to show 
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, A and B.

	4. Refer to Q1 and Q2. Are A and B mutually exclusive? Are A and B independent?

	5. Refer to Q1 and Q2. Find 
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	6. A bag contains red and blue marbles. A marble is drawn and put back after the colour of the drawn marble is recorded. This is repeated many times. According to the record there are 208 red and 116 blue. Find 
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 in a single draw.


	7. Refer to Q6. If there are 11 marbles in the bag, what is the most likely number of blue marbles in the bag?

	8. From a bag containing three red (numbered 1 to 3) and five blue marbles (numbered 1 to 5), (a) one is drawn and its colour is recorded and (b) one is drawn and its colour and number are recorded. Write down the two sample spaces.


	9. Refer to Q8 (a) and (b). Are the outcomes equally likely in each case?

	10. Refer to Q8 (b). Event C occurs when a red marble is drawn. Event D occurs when an odd number is drawn. Write down the following events by listing the outcomes in each one:
C, D, 
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	11. Find 
[image: image11.wmf](

)

D

C

¢

|

Pr

.

	Numerical, algebraic and worded answers.
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1.  {1, 2, 3, 4, 5, 6}


2.  A = {2, 4, 6}


     B = {1, 2}


4.  No, yes


5.  1/2, 1/3 


6.  0.642


7.  4


8.  {R, B}, {R1, R2, R3, 


     B1, B2, B3, B4, B5}


9.  No, yes


10. C = {R1, R2, R3}


D = {R1, R3, B1, B3, B5}


C ( = {B1, B2, B3, B4, B5}


D ( = {R2, B2, B4}


C ( D ={R1, R3}


(C ( D) ( ={R2, B1, B2, B3


                   B4, B5}


C ( ( D ( ={R2, B1, B2, B3


                   B4, B5}


11. 1/3
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